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DO NOW

What is the slope of the line that passes
through the points (-3, 5) and (3, -4)?
X lal X2 | ga

S L VR R
Mz =%, 3-(3)

S0 -3
T

Jan 29-7:23 AM

Homework Answers

1) y:%x+2 5) y=2x-14
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Converting to Slope-Intercept Form
y=mx+b
m is the slope and b is the y-intercept

EX: ldentify the slope and y-intercept of the line.

1) y=x+2 3) 3y-2x=-3 o
=mx+b AN 2y m'I—_g‘
A Sy =¥ -2
m=1 k=1 2 > b
X =
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2) y=-2x 4) 8-y =95
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-2 u=-bx +5
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| cTep 1 1)y =3x-3

Rewrite the equationin i

slope- intercept form. 8 %€
N £ 10

sTep 2 b -3

|dentify the
slope (m)
& y-intercept (b).

ST@P 3:

Plot the
y-intercept (b).

STECP 4:

i Use the slope (m) o plot
additional points (starting
from the y-intercept)
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STOP 1: gy Lys2

Rewrite the equationin
slope- infercept form. 0

y=mx+b e ]

sTep 2 > ]
Z

7

3/
)
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slope (m)
& y-intercept (b).

STEP 3:

Plot the
y-intercept (b).

i STCP 4:
£ Use the slope (m) to plot

faddifional points (starting
from the y-intercept)
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STEP 1.
Rewrite the equationin i

slope- intercept form.  §
y=mx+b

sTeP 2

Identify the
slope (m)
& y-intercept (b).

ST@P 3:

Plot the
y-intercept (b).

Rame
-
H

L ST@Pp 4:

Use the slope (m) o plot
i addifional points (starting
i fromthe y-intercept]
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. 4)2x-y=5 ;
Rem§e—|;r§erquc]l'ﬂon in )—\_)¢ y -

slope- intercept form. 3
y=mx+b
: - ]
Identify the &‘;’ TA-6
slope (m)
& y-intercept (b). et x
b:--5 L

ST@P 3:

Plot the
y-intercept (b).

STECP 4.

Use the slope (m) to plot
faddifional points (starfing
from the y-intercept)
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